1.7: Linear Dependence MA322-007 Feb 3 Worksheet
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Be prepared to answer to the class.

- A {-
oD 1 v ii?xs/’{c’i
' & éﬂk {ié’mm rﬁ f_} 4{5;325, “f? oV
(}Uﬂ tfg AT (j J . | f
LS{\ 2 v‘g &j" e ‘:)&fu{i{‘x't =S i{v‘, -
3 V‘tu &
()J‘W (e H"“‘“ V & i .

7 | V'&-. ’ -!m}im s cﬁi.&\c{”y
@{sm?!séf W‘iﬂj «2@} SGW‘ @ ha no  Se {l _

“No” versus “infinitely many” depends on the numbers in b of course.
How do you tell which b have any solutions?
Be prepared to answer to the class. -
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Takeaway: If the columns of a matrix A are linearly independent, then there is at most one_

solution AX = E, never infinitely many. The only way to get inﬁnitely many is (the reason
above; fill in the official version here).
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Weird question: You should have asked: “hrm, what about the rows? do the rows need

to be linearly independent? What's up with that?” So... what IS up with that?
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MA322-007 Feb 3 quiz
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1.7.1 Solve A(X) = b when A = {
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You shouldn’t need to row reduce.
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1.7.2 In each mairix decide if the columns are linearly independent. If they are not, cross
out the minimum number of columns to make them linearly independent.
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